
















Consider 2 3 4

This means 2 multiplied by the value of the bracket

so 2 7 14

We can think of this as 2 rows of 7 dots

s o o

o s s e r

But we can also think of it as

o o r s

s s s

s 2 3 4

2 3 2 4

6 8 14

Algebra Examples

1 2 x y 2x 2g
2 36 4 3 12

common wrong answers

Expanding Brackets



36 4 3 7

3Geta 3 4

Multiplication of Signed Numbers

ve positive tue x tve 7 ve

ve negative ve a ve ve

re x ve ve

ve x tve ve

Examples
1 4Cytz 49 8

2 5 2 3 10 15

3 3 x a 3 12

4 2 3xty 6 29
5 5 Zp 1 10p 5

6 6 x 3 6 18

7 3 2p q Gp 3g
8 5 x 3 21 5 59 10

9 3 2m n 6m In

10 2 x y 4 2x 2g 8



2m 8 4 4

34 6 4x 6

4pt4q 3 9
5 10 10p 5g
Gy 3 2p2qt2r
2pt8q 2x 8

4ht8k 39 6
12 18 5 5

3 69 9 8 49
2pt2qt2r Gpt4q

Ext 26 3 3 acts
E

3 acts 2 acts

2 6 3 15 3 15 2x 2

5 21 X 13

Exc 5 p 2q 2 ptg 5 zx y 2 x y

8 7Tpt 12g

y

sptioqt2P

y z pay Pt
Ex 2 y 3 4 gtz

2g 6 49 8 Jp Gq p g
Zp 5g

Expand and Simplify



6 4 x 297 36 1

7 2 p qts 3 p 4

8 5 h 2k t2 ht3k

9 2 p 2qt3r 3 p r

10 4 x 2g 3 y 6

3 6 5 15

8 21

4p 8qt3pt3q
Tpt Iq

3x by tax 2g
7 49



2h 2K 3h 3K

h tsk

5 30 2x 8

3 22

Ux Ty 3x 3
x 8g 3

Zp 2g 10 3p 12

p 2g 2

Sh t lo k t 2h 6k

Th t 16k

2p 4g Gr 3pt3r
p 4g tar

4x 8g 3g 18

4 x 5g t 18
11


